Mathematics Diagnostic Evaluation — Pages 2-4

Mathematics Diagnostic Evaluation from pages 2-4

1) 1,517.63 2) 20.74 3) 100.66 4) $323.72 5)46.11 6)754.5 7) 1691 8) 19.494.7 9) $173.04 10) 40326 11) 36

12) 2,500 13) 2 14)6.25 15) 5 16)40% 17)0.4% 18)0.05 19) 1:3 20)0.02 21) I+ 22) 62> 23) 154 24) 3 25) 147
26) 45 27)0.009 28)320 29) 3 30)0.05 31) 4 32)0.09 33)0.22 34)25 35)4 36)0.75 37)3 38) 500 39) 18.24
40) 2.4 41) % 42) 1:50 43) 5 tablets 44) 2 milligrams 45) 30 kilograms 46) 3.3 pounds 47) 6% = 6.67 centimeters
48) 7.5 centimeters 49) 90% 50) 5:1

Solutions —Mathematics Diagnostic Evaluation

1) 1517 + 0.63 = 1517.00 12) 2500.
+ 063 o.om.W.1 = 2,500
1,157.63 NI N
2) 0.7+ 0.035 + 20006 = 0.700 2
0.035 13 1.3_1. 8_2
+20.006 4 8 43 3
20741 = 20.74 ' s
3) 9.50 14) 1500 _ 240)1500.00
17.06 240 14404
32.00 00
41.11 280
+0.99 200
100.66 1200
4 $19.69 + $30403 = $ 19.69
+304.03 .
Ty _ 8 4
$323.72 15 08= =1
813110 5
5) 9324709 = %320
— 47.09 ’ 0.4
46.11 16 <= 5)2.0 = 0.4 x 100 = 0.40 X 100 = 40%
6) 10050 2.0
—250.5 17)  0.004x100=0,00,4 %100 =0.4%
7545 18) 5%=5+100=05,+100=0.05
6 11
7 17.156 — 0.25 = 17.456 Bl 10
~0.250 19) 3330=—3 -3 0. 10
16.906 = 16.91 '
_we 11
8 509x383= 509 =73 X =373
X 38.3
1527 0.02
4072 20) 1:50=50)1.00
1527 100
194947 = 19,494.7
1 2
9)  $412x42= $412 ) o= o=7
X 42 3.3
824 1T
1648 s
$173.04 ==1l
4
100  17.16 s
xgg;g.g 22) 12441= 122008
7 21
5148 TAs=4y
3432 537 _ 13
403.260 = 403.26 #on
36. =36
11) 972 + 27 = 27)972.
81
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ANSWERS

Mathematics Diagnostic Evaluation — Pages 2-4

23)

24)

25)

26)

27)

28)

29)

30)

31)

32)

33)

34)

35)

5_115
15 =173
_2_ 4
9~ 18
11
s
3
1 503
100 1 5
5
1 1 17 7 119 7
Tty T
BN S
150200100

1 .
— is the greatest
100

0.009
0.190
0.900
1
0.009 has the smallest value in the tenth place

64 320, =320
== 0,02,)6.40!
002 FCH
6l
0.4
4
00
0.02 + 0.16
0.4-0.34
002 040
+0.16 —0.34
0.18 _ 0.06
3.
0.18 _ t_
219 = 0.06)0.18! =
0.06 OPE)O\E 3
1
0.05
3 xO.ZS:ixézizm 3.00
12+3 157 1800 60
4 00
300
8% of 50 = .08 X 50 = 4
18
Lo =0.5%=0.005 X0.005
2 0.090 = 0.09

0.9% X 24 = 0.009 X 24 = 0.216 = 0.22

1
1:1,000 1,000
100 X 250 = - X 250

X

100
1

|5
N
wn
(=}
[
193
(=}

1060
10

_gx\é o

36)

37)

38)

39)

40)

41)

42)

43)
44)

45)

46)

25 s5-x
5
X=05x15=075
4
L006:600 15
250600
1
4X _12
4 4
X=3
051, % _150
17
0.3X _ 150
03 03
X =500

X:(82.4—52)%
X= 30~4><%= 18.24

1

%xu:X

300
2
|, 390 _
[mx ] ]XI.Z—X
1
2x1.2=X
24=X
2 _

2:10 = —1
10 5

[\

2%:—:i:l:50
100 50

25 + 5 =5 tablets
0.5 X 4 = 2 milligrams/day

66 pounds = 26—62 = 30 kilograms or

2.2 pounds 66 pounds
1 kill)ogram :><: ﬁgrams
22X = 66
20X _ 66
2.2 2.2
X = 30 kilograms
ke 13k 2.2
221b X1b %1.5
X=331Ib 10
22
330



§1r1 2lin
8 2
3x=»p1
8 2
35
8 2
3y 3
8 2
33
8 8
4
X:ixgzy
Z 3 3
1

Review Set 1 from pages 10-12

1

100 1

1)

oo

150

7 1 4 2 .1 7 3 _
5 D Ipa V315105 95 =

48)

49)

50)

23
10°9

13)31 14) 12 15)23 16) 2 17) = 18)-> 19) -+ 20)% 21) 135

Review Set 1— Pages 10-12

2.5 centimeters X centimeters
1 inch 3 inches
X =17.5 centimeters
> incorrect H_ X
50 50 100
% correct 50X = 4500
N 50X — 4500
50 50
X =90
N _ 909
100

5 females to 1 male
5:1

411

_ 112 7)8 )32 g 47 1g 411
=105 D)L 9T 105 1)2 12)1

1 5 3 2 1
22) 500 23) 5 24) 55 25 < bottle 26) 15 bottles

27) % of the students are men 28) % of the questions were answered correctly 29) % dose 30) % teaspoon

Solutions—Review Set 1

1) Improper fraction: numerator > denominator
6.7
6 5

2) Complex fraction: numerator and/or

denominator is a fraction

1
100
1
150

ans:

3) Proper fraction: numerator < denominator
and value < 1
1 1

ans: —»
4 14

4) Mixed number: whole number + fraction
and value > 1

.12 11 51
ans.19,14,58

3.3x2_6.3_6
5) 4 4x2 8’4 8
1_1x2_2.1_2
5 5x2 10’5 10
3.3+2_1.3_1
9 9+3 3’9 3

1_ (2x6)+1 _ 13
6) 63 2 2

1_(5xD+1_6
7 15 5 5

2 _@Bx10)+2 _ 32
8) 10;—73 =3

5 _ (6X7+5 _ 47
9) 76 ; 5

3 _ (4x102)+3 _ 411
10) 1024 T

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

2.=2
24 1o)oa,
2 24

1
g _
g_1

W

SYIMSNY



F

ANSWERS

Review Set 2— Page 14

21) . is larger than —— 27) 57
100 150 +3

The numerators are the same. The fraction with the 60 people in class

smaller denominator has the greater value.

] 1 The men represent % or % of the students in the
is smaller than —

22)
10,000 1,000 class.

23) 3 is larger than 2 28) 8_18+2_09
9 9

20 20+2 10
The denominators are both the same. The fraction

29) 160 mg 80 mg
with the smaller numerator has the lesser value. 1 dose X doses
160X =80
24) 3 is smaller than > 160X _ 80
10 10 160 160
25 10 ounces — 6 ounces = 4 ounces remainin,
) ) g X= % dose
i 2 -
}:O =3 bottle remaining
30) 160 mg 80 mg
26) 1t = Xt
1 bottle X bottles 160X =80
12 doses 18 doses 160X _ 80
12X =18 160 160
12X _ 18 -1
=0 X = 5 teaspoon

—16 11
X—l12 12 bottles

Review Set 2 from page 14

7 5 5 1 5 7 1 53 118 8 53 1 5 1
D8L 213 3172 915, 5322 655 713 853 943 10) 5115 1) 25 12)-2 13) 1 144> 15) 5,
16) 635 17)299% 18) ¢ 19) 13 20) 71 21) 75 22) 1y 23) 245 24) 1 25) 5= 26) 5 ounce 27) 1y inches

28) 8 inches 29) 217 pints 30) 137 pounds

Solutions— Review Set 2 5) 12% + 20% : 12% = 12%
1 2
1 442712 4201 =+20%
) T5+5:7 05 3 2
10 322
+is 6
722_g7
157715 1,1, 1_ 3
6) +5 2 >
2) 3+%2:3= 2 +5L= 454
27327 12 3 12
2_.8 57
MERRRNT) 12
1221;
12 1p2,1. 1 - 3
7) 73T 77 o
2.1 ,~1. 416 2_ 14
3) 4§+5ﬂ+72. 424 3 21
1 I, 1
5§ 51 =7
8
12 “L-11=11
T 2 =1y =13
162 =172 4,.5,42. 4_ 2
2 2 8) gt te 9 7
5. 4
3, 1,1 _18, 3 4 _18+3+4 25 _ .1 8 72
Y Itsts mtutuT aw —ulxn ) 43
+4§—+4E




9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

1481.341
342+82.342

1
5
2
422 _
5=43
12,52, 12_ 84
452, L= o4
1777 17 119
2 34
+57 +5119
118
119
6,11 6_- 18
+1 5 15
+11 = S
3 +115
12 _,8
]5_215
1ys5. 1 - 33
4 33" 4 132
5 20
+ = = 4=
R
53
132
3_1.3
4 4 4
_1
_4
2 _ 1
472
1 l1_gl _33. 413
812 34_812 312' 12
33
12
410
12
1_1.1_ 3
8 127 8 24
1 _ 2
127 "4
1
24

_361: = 3
100 363.100 993
_36l = _36l

363— 363

632

3

1_552. 1= 6
3555 555.3555 3545
—552_- _552

555— 555

2994

5

W =
N |—
=%}

|—

o]

ol

19)

20)

21)

22)

23)

24)

25)

26)

27)

28)

3 _71.143 =143
1416 78.1416 1416
_7l_-_72
78_ 716

7

N

—17Z- = 49
25-1 9 25 2 9
] — 7

179 179

]
75

7.39.47 2 414
41-32: 4 4

20 —

20° 10 20
39 - _39
20 20
13
6 _14- 6
4811 24 4811
-24
6
2411
2_1L.12= 8
13 112'13 112
1L = 1L
112_ 112
1
12

Review Set 2— Page 14

B

50 pounds — 48 pounds = 2 pounds lost

2 _ 1 .
30 = 35 of weight lost

4

1 1 -3 .4 _ 1
- ounce + 3 ounce = 5 + 2= ounce

12

%inch + iinch +%inch = total growth for 3 months

1_4
2 8
1-2
4 8
3_3
878
2 =11 inches grown
87 'g g

11 inches — (1% inches + 1% inches)

—_

+
—_
= N |—

S}
)

5 =3 inches in the margins

11-3 =8 inches vertical area available to write

%]
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ANSWERS

Review Set 3— Pages 19-20

2

29) 56341 :55% 30) 20l_71.902
1 2 4 4
- 345 _7%
| -
217 pints 13 1 pounds

Review Set 3 from pages 19-20

1 36 35 3 2 4 8 1 19 3 1 34 3 1
Dk 2232 425361271 86 91 10232 1) 12254+ 13)3 14) 12 15) 2 16) -
17) 5 18) 55 19) 35 20) 5 21) 3 22) 5 23) Iy 24) 60 calories 25) 560 seconds 26) 40 doses 27) 315 tablets

28) 1,275 milliliters 29) 52% ounces 30) 6 full days

Solutions—Review Set 3

14 1 .31 _73_.13_73 73 _134
31 ) 612'34 12 4 MX 39 1%9
1) X 3
10 12
1
B 1 _1 B
10 40 1.7 1 A2 _ 3
”1:2 15) 8 12 gx7 14
2
12,3_ 36
2)  DPxi=
25757 125 .11 3_3_ 1
1 16) BT3B AT T30
3) %Xlg=%><%—% 1 1
17) 5L+]0l:A+£:AXA:L
4) 1 ow3= 1 «3_3 4 2 4 2 AT A2
100 100 71 100 21
1 ) 3
6 _ 3 1.4 3.3 9 I 71(
9 P a(x)x () 3T Gelogxiog
4 3 3 1 30
0 % [ m]
150 1 _ 1 5 7
—=X2 =] o X—=— (X2 1 3 5 .3_5 4 10 1
1772 s 2 19) 25 +3=5+5=5X%5 =5 =3
100 3 274 274 % 3 3
1
iy Zys_5_12 1
3717203 '3 200 01, 1_1,3_3
1 20 3 2071 20
;6 3
7 30 =30 «2_4
) %2 FXT=3 .
5 L1 1 501
2) 150750 150 1 3
42_49,2_98_8 3
8) 9§X§_5X3 15 615
1
1 1
7117319 Z_1
9) ixzzéxzzl 22) 8'12 8 2 XX3 12
473 A7 F 2 4
2 1
3 4
D L fpet)t-8)
2yws5 1l X4 121 _ 847 _ 9319 3 11 \573 59
10) 43X524 3X24 36 2336 4 9
12 1
A 4] (4 )
=2 X% |+[2X
3xl1-3 5% 10
1) 355 % 1
1 1_25_61 _ 1525 1 :( ;%
1 1_25 61 _ 1525 _ 1 _4.36_ _10_11
12) 122><203 > %3 o 2546 _§T§_§X%_3_1§
1 9

13)



Review Set 4— Pages 26-27

24) 80 calories X calories 29) 1 tube 75 tubes
1 apple % apple % ounce X ounces
20 15
=3 X = Lx75=105
X = ; X 80 W 2
1 2
X = 60 calories X = 52% ounces
25) 60 sec X sec 30)

1 min 9l min - < Stop

Aap 12N
X = 9 X 60 = xﬁ(’f 560

1 10 2
X =56 d
560 seconds 9 am
26) 1,
2 __ 20t 8 4
1d X d
10 e % Start——> 6 5
3X=2
Ix
ZT — ? Daily doses would be taken at: 7 AM, 11 AM, 3 PM,
2 2 7 PM, and 11 pM for 5 doses/day.
X =20+ % =20 X% =40 doses 5 doses/day X ounce/dose = % = 2% ounces/day
16 ounces + 25 ounces/day = T6 + % = 11—6 X % = %
2
6% days or 6 full days
27)  3%7=21 doses 5 5 Y

21x 1% tablets =

363
2 2

21x

31 l tablets
2

28) - full means the patient drank 2 pltcher =
3
pltcher =850 mL

2 i h
3 pitcher 1 pitcher
850 mL X mL
2
=X =850
3
2
3% _8%0
22
3 3

X=850+§=850><§=@:1,275m1

Review Set 4 from pages 26-27

1) 0.2, two tenths 2) %, 0.85 3) 120, one and five hundredths 4) %, six thousandths 5) 10.015, ten and fifteen

thousandths 6) 1 1g> one and nine tenths 7) 5 10, 5.1 8) 0.8, eight tenths 9) 250%, two hundred fifty and five tenths
10) 33.03, thirty-three and three hundredths 11) %, ninety-five hundredths 12) 2.75, two and seventy-five hundredths
13) 7200, 7.005 14) 0.084, eighty-four thousandths 15) 12%, twelve and one hundred twenty-five thousandths

16) 20 100> 500, 22.022 18) 2%, fifteen hundredths 19) 1,000.005, one thousand
and five thousandths 20) 4, 085 10> 4:085.075 21) 0.0170 22) 0.25 23) 0.75 24) 555 200 25) 0.12 26) 0.063 27) False

28) False 29) True 30) 0.8 gram and 1.25 grams

twenty and nine hundredths 17) 2L

N
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ANSWERS

Review Set 4— Pages 26-27

Solutions —Review Set 4 8)  Decimal
0.8
1) Decimal i-5 W)
1 0.2 :
i= 5)1.0 Read: eight tenths
10
0 9) Fraction
1
-=0.2 - 5 1
5 250.5= 2505 = 2505

Read: two tenths Read: two hundred fifty and five tenths

2) Fraction 10)  Decimal
85 _ 17 33.03
100 20 3 3303 _
. 33M_W_100 3(3)83.00
Decimal N
0.85 303
85 _100)85.0 300~
100 30
800 0
500 300
500
0 Read: thirty-three and three hundredths
3) Fraction 11)  Fraction
=105 _,5 1L 95 _ 19
1.05 100 1100 l20 0-95=m=5

Read: one and five hundredths Read: ninety-five hundredths

4) Fraction

6 3 12)  Decimal
0.006 = 1000 ~ 300 2.75
Read: six thousandths z% = % =4)11.00
8%
30
5) Decimal 28
10.015 20
102 = 2903 _ 200)2003.000
200 200 2004 Read: two and seventy-five hundredths
£
O 13)  Fraction
30 475 _~1
0 seven and five thousandths = 71,0W = 7%
300 Decimal
200 7.005
1 000 7.3 =005 _ 1 000)7,005.000
1 000 1,000 1,000 7,000 ¥
0 50
0
Read: ten and fifteen thousandths 5 08
5,000
6) Fraction
14)  Decimal
19=12 ecimal
? 10 0.084
Read: one and nine tenths 2L 950)21.000
_ 2350 20 00
7) Fraction 1 000
1 000

five and one tenth = 5%

Read: eighty-four thousandths

Decimal
R 5.1
5ﬁ=%=10 2(1).(1 =51 15)  Fraction
— 19125 _ (HL
o 12,125 = 127565 = 124

Read: twelve and one hundred tewnty-five
thousandths



16)

17)

18)

19)

20)

Fraction

—20.9
20.09=20 100

Read: twenty and nine hundredths

Fraction

twenty-two and twenty-two thousandths

_ 22 _ 11
=22 1,000 22%
Decimal 22,022
22 _ 22,022 _ -
22m =100 = 1,000%(2),883.000
2022 l
2 000
220
_ Oy
22 00
20 00
2 000
2 000
0
Fraction
15 _ 3
0.15 = 100 — 20
Read: fifteen hundredths
Decimal
1,000.005
1 _ 200,001 _
1,000%— 00 = 200%88,(301.000
0 Ol
_Ov
000
_ Oy
0 001
0
10
_Ov
100
_Ov
1 000
1 000
0

Read: one thousand and five thousandths

Fraction
four thousand eighty-five and
seventy-five thousandths

— 75 _ 3
=4,085—"= 4,0855

1,000
Decimal
.075
4,085]})% =4,085+1,000)75.000 =4,085.75
70 00
5000
5000

0

21)

22)

23)

24)

25)

26)

27)

28)

29)

30)

Review Set 4— Pages 26-27

0.017=0.0170
four place decimal

0.2500=0.25

two place decimal

0.75
75

—=100)75.00
70.04

5.00

45 9

0.045= =—
1 1,000 200

tenths

hundredths

thousandths

0.012

0.120

0.021
T

0.120 is the largest because the 1 in the tenth
place >0

0.635

0.6

0.063
1

0.063 is the smallest because O in the tenth place is
the smallest

0.375 # 0.0375
False

2.2 grams # 2.02 grams
False

6.5 ounces = 6.500 ounces
True

0.5 gram is less than or equal to a safe dose is less
than or equal to 2 grams

Safe doses: 0.8 gram and 1.25 grams

0

SYIMSNY



10 Review Set 5— Pages 28-29
g:) Review Set 5 from pages 28-29
"I;J 1) 22.585 2) 44.177 3) 12.309 4) 11.3 5) 175.199 6) 25.007 7) 0.518 8) $9.48 9) $18.91 10) $22.71 11) 6.403 12) 0.27
A 13) 4.15 14) 1.51 15) 10.25 16) 2.517 17) 374.35 18) 604.42 19) 27.449 20) 23.619 21) 0.697 gram 22) 18.55 ounces
E 23) 2,058.06 24) 10.3 grams 25) 8.1 hours
Solutions—Review Set 5 11) 11
4.000
D O 1.980
0.160 0.420
5.375 40,003
1.050
+16.000 6.403
22 585
12) 210
2) 7.517 030
3.200 ~003
0.160 -
+33.300 027
44177 13) 210
210 1630
3 12609 ~12.15
—-0.700 4.15
12.309 14) 11410
. 250
4) $5.125 ~099
0¥6.025 151
+0.150 5 .
11.300 ) 5.00
11.300=11.3 2.50
0.05
5) 175.100 0.15
+0.099 +2.55
175.199 10.25
9 1
6) 11010 16) 0030
25200 0160
-0.193 +2.327
25.007 7517
7) 710 17 699 910
0589 700 0
-0062 —325.65
0518 37435
8) 91010 a3
18 )
-062 —40.90
$9.48 60442
9 8910
) $19.00 19) 11
— 0.09 18.000
$18.91 2.350
7.006
1) 4555 +0.093
017 27.449
+17.49



4)

5)

6)

7)

8)

9)
10)

11)

12)

Comprehensive Skills-Evaluation — Pages 473-486

1 13)
D _ Mg _
m XQ = 210mg X 1tab = 1 tab
14)
0.25 mg = 0.250. = 250 mcg
N
15)
1 1
DxqQ _léﬁmch 2mL =2 mL=1mL
500 meg V4
2 1 16)
0.25 mg = 1 mL added to 4 mL NS = 5 mL total
1
Zm,L = ] mL/min
& min
1
17)
I mL X mL
60 sec X 15 sec
60X = 15
60X _ 15
60 60
X = 0.25 mL (per 15 sec)
0.125 mg = 0.125. = 125 mcg
~—A
18)
1
Do =% o tab = Stab
H 256 mcg 2
2
Daily means you will need % tab per 24 h.
dro fa::;/l;onstam - gtt/min
P ‘ 19)
m = 80 gtt/min or
80 mL/h = 80 gtt/min (because drop factor is
60 gtt/mL) 20)
D
= X =
H Q=X
DmEgh 5 1,000 mL = 80 mL/h
10 mEq
b 21)
— X 1,000 = 80
10
1,000D _ 80
10
1,000D = 800
1,000D _ 800
1,000 1,000
D = 0.8 mEg/h
0.8 mEg/H X 24 } = 19.2 mEq
80 mL/A X 24 { = 1,920 mL
1,000 s _ _ .
Wﬁ = 12.5h = 12 h 30 min
1630 hours + 12 h 30 min later = 0500 hours the
next day
1 g=1,000 mg 22)
2
D _ o680y _
o XQ = prp X 1tab = 2tab

1

Order is for 80 mL/h—this is the setting for the
controller.

nitroglycerin, furosemide, KCl

D 50 g
m XQ = wmg X 1mL =5mL
1 1
2 wg/mi 2 .
D=2 o 566 mL = 2 = 0.5 mL/min
H 2,000 g Vs
4 2

0.5 mL/mif X 60 mifi/h = 30 mL/h

110 6 + 2.2 W/kg = 50 kg
Minimum: 5 meg/kg/min X 50 k¢ = 250 mcg/min
Maximum: 10 mcg/kg/min X 50 k¢ = 500 mcg/min

Ordered dosage is safe.

5
D 460 g
m XQ_SGmg X 1mL =5mL

500 meg/min = .500. = 0.5 mg/min
[

S
0.5 mg/
22 ¢ 250 mIL = 220k

400.mg 8 min
8

= 0.312 mL/min = 0.31 mL/min

D
wXQ=

0.31 mL/min X 60 min/h = 18.6 mL/h = 19 mL/h
500 mecg/mifi X 60 pfi/h = 30,000 mcg/h
30,000 meg/h = 30.000. = 30 mg/h

[N~

= 1 mL/min

—NI% -

1 mL/mir X 60 min/h = 60 mL/h

33J8 + 22 Jb/kg = 15 kg
15 mg/kg/day X 15 kg = 225 mg/day

. 225 m,
Maximum: 3 dom = 75 mg/dose
The order is safe.
1
75 rag _
T ><Q = %mg X 2mL =2mL

25 mL total IV solution — 2 mL Kantrex = 23 mL
1

D5 3 NS

25 mL (total solution) + 15 mL (flush) =

(total in 1 h)

40 mL over 1 h is 40 mL/h.

40 mL

3
”mg”’x 100 L——xwﬁmL—nmLm

25 1

—XQ—

16

w
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ANSWERS

23)

24)

25)

26)

27)

28)

29)

30)

Comprehensive Skills-Evaluation — Pages 473-486

66 6 + 2.2 B/kg = 30 kg
40 mg/kg/day X 30 kg = 1,200 mg/day

1,200 mg _

4 doses 300 mg/dose
6
1
R><Q = 300.me X}ﬁmL=@ mL = 6mL
H 500 g 56

50 1
50 mL (total IV volume) — 6 mL vancomycin =
44 mL (D % NS); 50 mL/K X 24 } = 1,200 mL
Child weighs 30 kg.
100 mL/kg/day X 10 k¢ = 1,000 mL/day
(for first 10 kg)
50 mL/kg/day X 10 k¢ = 500 mL/day
(for next 10 kg)
20 mL/kg/day X 10 k§ = 200 mL/day
(for remaining 10 kg)
Total: 1,000 mL/day + 500 mL/day + 200 mL/day
= 1,700 mL/day or per 24 h
LAVIL — 70.8 mL/h = 71 mL/h
The ordered rate is less than the recommended daily
rate of maintenance fluids. The nurse should
consider possible clinical reasons for the difference
and consult the physician as needed for clarification.
The vial size is 1.5 g. Choose the diluent that
corresponds to the vial chosen. Adding 3.2 mL will

yield a total of 4.0 mL containing 1.5 g.

2/6/xx, 0800, reconstituted as
1.5 g in 4 mL. Expires 2/9/xx, 0800.
Keep refrigerated. G.D.F.

50 mL 60 paim
X

Sl X 2L =100 mL/h
1

2 .
Do =02 o mL = 2mL
H 5660 units

60
—
DxQ = 12008 o s90 mL = o mi/h
H 10:600 naits 20
20 1
= 60 mL/h

125 )8 + 2.2 J6/kg = 56.81 kg = 56.8 kg
80 units/kg X 56.8 kg = 4,544 units

4,544 units

D _ _ -
7 X Q= 7000w X 1 mL = 4.544 mL = 4.6 mL

31)

32)
33)

34)

35)

36)

18 units/kg/h X 56.8 kg = 1,022.4 units/h
= 1,022 units/h

. |
D =1ee2satsh o 256 mL = 10.22 mL/h
H 25600 units

100
= 10 mL/h

Decrease rate by 2 units/kg/h

2 units/’kg/h X 56.8 k¢ = 113.6 units/h = 114 units/h
1,022 units/h — 114 units/h = 908 units/h

D 908 urits/h 1 B
100

=9mL/h

D _ 8uynifs _
EXQ_H)O .SXImL—O.OSmL

15 units + 45 units = 60 units

3
P x Q=20 1L = 3 mL
1

Total IV volume: 150 mL (NS) + 3 mL (insulin) =

153 mL
D
= X =
H Q R
Dauritsh 5 153 mL = 10 mL/h
300 units
D x153=10
300
153D _ B
300
153D = 3,000
153D _ 3,000
153 153

D = 19.6 units/h = 20 units/h

8 floz X 30 mL/fl6z = 240 mL

DXQ =X

1
$XQ =240mL

%Q = 240 mL
1

2Q 240
T
T3

Q =240 x?

Q = 960 mL (total volume of
1
reconstituted " strength Isomil)

960 mL (total solution) — 240 mL (solute or Isomil)
= 720 mL solvent or water

16 )6 + 2.2 B/kg = 7.27 kg = 1.3 kg
100 mL/kg/day X 7.3 kg = 730 mL/day
730 mL/day + 24 h/day = 30.4 = 30 mL/h



37)

38)

39)

40)

41)

42)

43)

Comprehensive Skills-Evaluation — Pages 473-486

5 X 12 in/f = 60 in; 60 in + 2 in = 62 in 44)
Household:

2 _ [htmxwitdb) _ [62x103 _ [6.386
BSA (m?) = \/ 3131 = \/ 3131 \/3,131 45)

=V2.039... = 1.428 m?> = 1.43 m?
10 mg/ma? X 1.43 ¥ = 143 mg
20 mg/? X 1.43 i = 28.6 mg
Yes, the order is safe.

Concentration: 40 mg/80 mL = 0.5 mg/mL

D _ 28mg _ 46)
EXQ— mgx I mL = 56 mL
56 mL .
10 Ein = 5.6 mL/min (or 5.6 mL per 60 sec)
5.6 mL X mL 47)
60 sec :><: 15 sec
60X = 84
60X _ 84
60 60
X = 1.4 mL (per 15 sec) 48)
Dextrose: NaCl: 49)

S5¢g Xg 045g Xg
100 mL X 1,000mL 100 mL :><: 1,000 mL

100X = 5,000 100X = 450
100X _ 5000 100X _ 450
100 100 100 100
X =50¢g X =45¢g
D 540 mg _ _
I XQ = _250mg X 1mL=2.16 mL = 2.2 mL

50 mL — 2.2 mL = 47.8 mL (IV fluid). Note: Add

the medicine to the chamber and then add IV fluid

up to 50 mL.
40 mg 540 mg
1mL = X mL
40X = 540
w0x_ s
40 40
X = 13.5mL 50)

400,000 units/dese X 4 dosés/day = 1,600,000
units/day

Minimum: 150,000 units/kg/day X 10 kg =
1,500,000 units/day

Maximum: 250,000 units/kg/day X 10 k§ =
2,500,000 units/day

Reconstitute with 1.8 mL for a concentration of
500,000 units/mL. This concentration is selected
because it will be further diluted.

4

306,600 uaits
5

Dvo= 1
HXQ_ leL—SmL

= 0.8 mL penicillin

100 mL (NS) + 0.8 mL (penicillin) = 100.8 or

101 mL to be infused in 60 min or 1 h. Set IV pump
at 101 mL/h.

The primary IV will infuse for 8 hours. The IV PB
will infuse for 30 minutes. Therefore, the primary IV
will be interrupted by the IV PB and then will
resume. The IV will be completely infused in

8 hours and 30 min.

(1315 + 8 h 30 min = 1315 + 0830 = 2145)

1
D_ . g 1
2
] 5
D ot o5 _1s
m Q_z,eﬁo XlOmLfﬂx}ﬁmL 2mL
4 2
=75mL
2
100 mL 60 mi
M 29FM 200 mL/h

30 pairt 1h
1

Prevention: Either the route or the frequency of this
order is missing or is unclear. If the student actually
gave this medication in the eye, it would cause a
severe reaction. The medication particles could
scratch the eyes or cause a worse reaction, such as
blindness.

To prevent this from occurring, the student/nurse
should always ensure that each medication order is
complete. Every order should include the name of
the drug, the dose, the route, and the time (with the
patient, prescriber, and licensure identified). When
any of these is missing, the order should be clarified.
Further, the “od” abbreviation is obsolete and
discouraged by The Joint Commission. The student
nurse should also look medications up and know the
safe use for each medication ordered. Had this
student looked Lanoxin up in a drug guide, the
student would have discovered that the medication is
never given in the eye.

Prevention: The student nurse took the correct
action with this order. The nurses who had given the
medication previously should have looked up the
medication if they were unfamiliar with it to safely
identify whether it was ordered by an appropriate
route, correct dose, and correct time. There was also
an error made by the pharmacist who supplied the
medication to the nursing unit. It is extremely
important to be familiar with the medications being
given. If there’s a question or any doubt, the
medication should be looked up in a drug guide
and/or the prescriber questioned. Also, close reading
of the label and matching it to the order is also
extremely important. Remember the six rights of
medication administration at all times when giving
medication.

16

(%]

SYIMSNY






